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compl comp?2
1-2 —-3.8303 -0.2192
2— 0.7951 -0.3870
3— 3.1346 1.3244
4— -3.4951 0.6176
5- 3.1204 -0.2934
6— 3.3956 1.3439
7— -4.0622 1.5185
8- 2.1586 -0.6037
O— -0.5477 -1.2134
10- 3.2970 2.0287
11- 1.6491 -0.3755
12— -1.7471 -1.2139
13- -2.7375 0.4175
14- —-8.8922 -2.5266
15— -2.0784 1.3711
16— 0.5818 -1.9256
17— -2.9326 0.1490
18- 2.6421 -0.7021
19- 1.3843 -0.0190
20— -0.6040 -0.1284
21— -0.3439 0.0817
22— 1.9281 0.2701
23— 1.2050 -0.6602
24— 1.6247 -0.3448
25— -2.2591 -0.0339
26— -0.0182 0.1449
27— 0.3082 0.1783
28— -0.6827 0.2988
29— -1.0123 -0.3934
30— -0.8295 0.0195
31- 0.3242 0.6132
32— -1.3283 0.8852
33— 0.6416 0.4033
34— -1.0754 1.1087
35— -0.1405 0.3979
36— 6.9474 0.8416
37— -1.7285 0.6546
38— -1.0113 -2.3437
39— -0.3488 —-0.0895
40— 7.6006 -1.7061
41— -1.2627 -0.0241
42— 1.1151 0.9611
43— —-0.8853 -0.4262
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PROGRAM
1999 9 1
body
1 2 -0.2120 | -0.2029 | -0.1938 [ -0.1847 | -0.1756 | -0.1665 [ -0.1513 | -0.1362 | -0.1210
2 3 00530 | 00467 | 00404| 00341] 00278] 00215[ 00110 0.0005| -0.0100
3 4 00780 | 00857 | 00934 01011| 01088 | 0.1165| 01293 0.422| 0.1550
4 5 -0.2100 | -0.2059 | -0.2018 [ -0.1977 | -0.1936 | -0.1895 [ -0.1377 | -0.0858 | -0.0340
5 01360 | 01404 | 01448 01492 01536| 01580 | 0137 00693 | 0.0250
6 00500 | 00742 00984 01226| 01468 | 01710 04573 | 01437 ] 01300
7 -0.1760 | -0.1814 | -0.1868 [ -0.1922 | -0.1976 | -0.2030 [ -0.1787 | -0.1543 | -0.1300
8 -0.0140 0.0098 0.0336 0.0574 0.0812 0.1050 0.1100 0.1150 0.1200
9 00470 | 00272 00074 | -0.0124 | -0.0322 | -0.0520 | -0.0617 | -0.0713 | -0.0810
10 00480 | 00622 00764 00906 | 01048 | 01190 01477 0.763| 02050
11 0.1080 0.0958 0.0836 0.0714 0.0592 0.0470 0.0380 0.0290 0.0200
12 -0.0160 | -0.0336 | -0.0512 [ -0.0688 | -0.0864 | -0.1040 [ -0.1060 | -0.1080 | -0.1100
13 -0.1460 | -0.1376 | -0.1292 | -0.1208 | -0.1124 | -0.1040 | -0.0793 | -0.0547 | -0.0300
14 -0.3340 | -0.3452 | -0.3564 [ -0.3676 | -0.3788 | -0.3900 [ -0.3867 | -0.3833 | -0.3800
15 -0.3020 | -0.2546 | -0.2072 [ -0.1598 | -0.1124 | -0.0650 [ -0.0563 | -0.0477 | -0.0390
> cor(body)
Pril
princomp

> prl <- princomp(body,cor=T)

> vv=sum(pri$sdev/2)

> cumsum(pri$sdev/2/vv)
Comp.2 Comp.3 Comp.4 Comp.5 Comp.6 Comp.7 Comp.8 Comp.9

Comp.1

0.8742985 0.9804329

4
>plot(prl)
1

2

> loadings(prl)[,1:2]

>pri$scores
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